X £ £ m F£ F

1) Z[FEEF(YLTC) 2) BEER(YLTC) FEEFF ()T IL—)

KERERF (SEYR) ZH#EF(UME—TI) BIBIBF (7RI AR)
4) kAIEF(FL>X) 5) NiI#F(145—X)

REHMF(TLUX) HEEF(145—X)
HAEHER

ER-KAEE-SAHAI-HF LD KEEER-EIB| BB | IEAC

=&KX 5-6 6-0 6-0 6-2 3-1 2
mE-5H 6-5 6-3 6-4 6—-4 4-0 1
AI-HE 0-6 3-6 6-3 3-6 1-3 4
dtOo-XK=x 0-6 4-6 3-6 0-6 0-4 5
BRIR-fEIe 2-6 4-6 6-3 6-0 2-2 3

x  WERIE -+ IEHFBEIHAEGRTOESICKYARLET,
1) X2) 3) x4) 5)x1) 2) x3) 4)x5)
1) x3) 2)x4) 3) X5) 1) x4) 2) x5)

M E M 0]

e SEER-STHHT
ARDI, BSTELTEATEDBEBINTY,
BEHTETETEONLLTY, HYAESTSVELT,

( 29>rpnEAAITEKEDIEE )
1T BAABOBR=FBFLASH - BEHER
2. 2ENREDZE FEETROBE
3. BENAEDGZEFEHATONMET —LENFVEN LA
* G —LE=B{LET7—LEHHE-2HED T —LEFHHE




